Math 103 - HWO*BA

A\ -—\"z;(‘ear.\p o€ J.({MS‘L/WLSNS\- "VJ(.L '\'LL \W\\H/C}r( -
0_\'\-‘*—‘\‘\3"‘\ \07 Smu/\:tma X M\aty (V&{ auu;,yuy\r %,\nra, O
éb(y, “%\M\ts o . VAR ‘Glmc/{vm (37{-_(/1%)
o e

L ) _ . .
UB htM" \/-Kl ov ‘F\O‘L‘-"\ ?fnu\-
H‘N ot Ao 6@%5&,6 o ehirales Lo Ht?o{’h/u)

LOL\ 7"“ X._L‘\'Z, ‘ K:YL“’L

(s\\x‘(“t \’-—)} u\.Q W&wﬁ)

-
(‘1}0\ -—' L?.‘(l\ - 1 .
™ g T O
< L P
\l o, U/"S\ 1
4 e

/Y“K

e
" ] 'l
S |

Z B

r

(o) y‘f[wrll
okt y= W\ S A
2 e \Q@r)

— YK
_ -~
K’Bﬂ} + A )
N\ A .

S

-



F\Z /\\\J‘{tbvm:k“\m Og “ urz\t N\‘HA u‘?uuu-s r m:* C,Q»w{-fx‘
(&i‘o\ \D (\L—a\L %1- (\l, _L)L: (l . ﬂ\‘» -”NW% eém(*‘;w\
© oHnlMJ \97 SV“%E % ok Y ol e ﬁuw
(gl bV s e Yt o @

ER S

/\"}B\(w ‘MM, LW“\ ‘CD(""\, ()k— \o)l* (}(—a\ W
n cide oL el ok nber V). T 2
wd (£ 0)= (2,5)  dhae be dedo e gl

l Ly -‘L;(
lpe\on Lr-“ 31y =x

1O P
-'( O/ =) *(Y’L\ = |

W;—

L .
_;/\“‘ﬁl




NS s poblen s Wl Problem Al |4 W
ca so\x-(‘CH ‘-{/L\ VAL Q‘uu\c{ﬂm 'va Weead

&f"-\ ‘Q(ﬂ:z}k' / /‘ Zx 5 D ANSE g_ﬁv‘_,__{-,,y\
‘1%. k’ly "—)D %) V‘a ‘Czs(\#

- lye 2

]

QO\ Q(K\-K% 2.) ¥ = )L 2 o \AASe efbM(-;n\ ey ?U_z:y'b

’m\mra(:wy 5#*9 T% y= Qm-z)?’ 50
. 4 \ (l“'z’)kb ; /\CWK AL OD—KMJ\ b.x.(cm

\7.;\ . : /7/:)\

sy =2
Y - :.L/ 4 (PR3
..- ' 'é/_,””,! "




P(?) LCB L ‘Q(Y-\: e}\-\ | “ \f: K'\'\ s0  \ANTASL e%ww{-'ny\
EONENIE %u\\nlna &N\?{’ x—= et o
lw - 1): \v\—(t\lj"‘}( “ Y= lw(}(_—l\ o~

\S(\h l'&bﬁ-’l)] Thase e rxtu lalm
g T Qe ) =X

P‘Lt (ox\ 7 ﬂ \-\ 40 LNWSQE%NLW\D X = t\fi—\
%\wager‘j, \L\—{\/ % \“\L’L" l(d)

Yo Y vab@ 3({3 » R\vl(\t\ L (x l) 1

b l‘)‘
L;\( K\w\k-l)\ fo InTINL C‘(]Mj“wﬁ kﬂn(q Z)I

,\a‘@w‘ \/ 6\;\\‘(1) (M(T 2,) Lm‘w—a \to%kzstiﬂd
PN C, 13_ iy S o)

¢t 4’2, 7 L{, +L )lb
p! h(\ ) ( 1’2)1 ?




4 \ \ —
) y-= =, P *\’\\L\«\m M”!rl \S
MU s e
Y\r—— \ \;\ n —\—-‘:'_ + Y O
@1y ! %{W‘ X €+ 1) /

“0 Gﬁ—jlb-,-f_yk l‘u, Q\/ (ZA\(,O‘\ )L A\
Thew wtﬂ \w & 0 0 )( W(K(b D

‘Q = Ll - lﬂ
AS (D Swe E0-2 v WD~ 1)

LY 4120 | = g'(0v=1. Na 9'(%”‘(053‘-
o0 -2,

LR )=\

AY £(4L0-5 )« £7(3-5) - F (D=3 s
B & Clas) ]

() %'L(G ?—\) () > (j A (‘{ =3

§) IO €8y, o G % SCURNARA

(DA (FEE-0) - - T(+46))-0

- la)c - 1




